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Question Paper

VIDYASAGAR UNIVERSITY

Candidates are required to give their answers in their own
words as far as practicable.

The figures in the margin indicate full marks.

International Business

Group - A

Answer any five of the following questions : 2×5=10

1. State the importance of globalisation. 2

2. State two modes of entry into international business. 2

3. Define balance of payment account. 2

4. State two objectines of WTO. 2

5. What is foreign exchanges market? 2

6. State two types of foreign investment. 2
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7. Define SEZ. 2

8. State two sources of trade finance. 2

Group - B

Answer any four of the following questions : 5×4=20

9. Discuss briefly the role of IT in international business. 5

10. State the important functions of World Bank. 5

11. State the components of balance of payment account. 5

12. Explain briefly the different types of non-tariff barriers. 5

13. Distinguish between international business and domestic business. 5

14. Write short note on NAFTA. 5

Group - C

Answer any three of the following questions : 10×3=30

15. Explain briefly the fifferent stages involved in product life cycle. 10

16. (i) Define international financial system.

(ii) State the functions of IMF. 3+7

17. (i) Define outsourcing.

(ii) State the importance of outsourcing in India. 3+7

18. Discuss briefly the Theory of National Competitive Advantage. 10

19. Write short notes on : 5+5

(i) SAARC

(ii) Barriers to trade
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OR

Paper - DSE 4-T

Industrial Relations & Labour Lauss

Group - A

Answer any five of the following questions : 2×5=10

1. Define Industrial Relations. 2

2. State two factors affecting industrial relations. 2

3. State two factors affecting growth of Trade Unions in India. 2

4. What is Collective Bargaining? 2

5. State two functions of Trade Unions. 2

6. Identify two main causes of indiscipline in organization. 2

7. Explain the term “Lay-off”. 2

8. Define labour turnovers. 2

Group - B

Answer any four of the following questions : 5×4=20

9. Distinguish between Strickes and Lock out. 5

10. State the provisions relating to health under the Factories Act, 1948. 5

11. Briefly explain the principles of natural justice. 5

12. Distinguish between productive bargaining and gain sharing. 5

13. Briefly explain the international dimensions of Industrial Relation. 5

14. State the different causes of labour turnover. 5

Group - C

Answer any three of the following questions : 10×3=30

15. Briefly explain the functions and role of trade unions. 10
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16. (a) Define grievance.

(b) State briefly the procedure of grienance handling. 3+7

17. Explain briefly the salient features of Industrial Employment (Standing Orders) Act, 1946.
10

18. (a) Define absentceism.

(b) Give a brief account of grienance redressal machinery in India. 3+7

19. Write short notes on : 5+5

(a) Working Hours

(b) Worker’s Participation in Management.
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OR

Paper - DSE 4-T

Business Research Methods and Project Work

  Full Marks : 40 Time : 2 Hours
Answer any five of the following questions : 2×5=10

1. State any two purposes of research. 2

2. What is null hypothesis? 2

3. State two advantages of survey method. 2

4. Identify two sources of secondary data. 2

5. What is ANOVA? 2

6. State two types of research report. 2

7. What is JEL classification? 2

8. What is ordinal scale? 2

Answer any three of the following questions : 10×3=30

9. Explain the steps involved in report writing. 10

10. Explain briefly the procedure of conducting a Z test with respect to a specified mean. (you
may use hypothetical figeres). 10

11. (a) Define scaling.

(b) Distinguish between uni-dimensinal and multi-dimensional scales. 3+7

12. Explain the steps in research process. 10

13. Write short notes on : 5+5

(a) Fisher’s T test

(b) Citations
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